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Still (ings) Air

When we look at the modelling trends of East @nid WWestling to know just who is catching up o®nvtiam.
one hand we find the Kruschev Kids junkimidpérand reed in favour @mdrican balsa, andtrenother, our own
model journal featuring a public confiessi@ndeviating theorist.

| suppose this suggests a good, healthy exchangéulf iidessms to me that the Rasmld gettinge better eraf

the bargain. Carving up balsa might be laboslagaryo the average, plastided Western modelletobomr
reed tortured Eastern friends it must be shé@n ldissside, we have to go through the wholétesiiass of a
public trial and full renunciation every time soneamet beginner’s friend unwittingly desmatie rigid code of
orthodox theory.

What it means is that the future article writer mukidimaway the wind’'s blowing before wading in rdfdikkess.
our confessing friend, you think the wind’sAdlewiitgsn’t, then you're really up the creek. Thieefagsisdeology
doesn’t recognise wind. It's all s@lhdiif it hagms to be moving when you heave aimodeglthat’s just your
hard luck.

There must be plenty of other pitfalls for thetheevesty but, for a start, I'm going to keep very quletabout
cupboard full of galeecked models.

PREposterous

A cetain balsa tycoon, with a predilection forchaitingnd whimsical sales letters, seems to have a talkés chip
shoulder about gentleman of thevoresig out the secrets of his silk finish processes. At first ithsugferring
to me, as, in the past, | have made a few desperate cracks about silk woodwormspfoe \Whighd hedergiven,
but | noticed with relief the tgenmlemanNot even my best friend, if | had onecalbuié that, and theadtful
visions of being the subjeztgreat big saw came neaetron his log cuttimgchine were happily dispelled.
Anyway, our balsa tycoon suggests that the padnaghasy, he might be, read up on American aditersiging
particularhe subject of sales FRBEtation. Now, this, in my opinion, is biitapdar. The log cutting machine is one
thing, but I'm sure the poor woodworm watchetedeesm’such a ghastly fate. However, Burgidalthe ordeal, he
would at least know tha&n't what you sell that matters but theRBtstation. He might also understarfdswhy
breakfast food tastes like balsa chippings.

Backward Boys

Glider towing is making the news juptawivwghat what you need to win is agaad But, Yanks are quite a recent
inventiorwhile model gliding is the oldest brandiotibyuPossibly, the earliest referencegorttie to be found in the
last words of Julius Caesar, which, if yoteptiwhait schdonstead of making paper gliders, you wileermsni/a
Brute

In fact, we can go backwards almost ahiéamalern enthusiast in search of a tiBermved. don’t need to go back
to Roman tima@ssearch of a Maximus Scotwrgresent roaming tikeep the clock watching boys on their toes. Before
the timkeeper can clock on, the thermal seeker has disappéahedaguodrome.

On the face of it, all this airfield prancing seems serfhamexn glider is smsitive to thermal lift that thtefk’sf
limiting the cross section of the d/t fuse. Mosiaglidefsly do a maxfra dicey 10 ft. launch, but tleveays the

odd downdraught to elude, and the technique is to carry on towing whéittyioulefeet the grouBylthen you
should have travelled far enough uppiadtta masized flight bang at the feet of the timekeeke. figff you
should venture a little further, takingfaawarse, to avoid main roads.

Another advagg of this technique is that it keepmtted clear of that inevitable denskmdaddhe downwiedd

of the aerodrome. But, even the most experiefmeddfalis trap, as was demonstrated in the Alrdipeds.
over one of the highest tresare told, waparticularly fine, silver foil covered specimen, with Newgedtand
applied to the wings. What words weretappleed/odandwe were not told.

Aboriginal Idea

Our Australian friends get niggly enough when refepdthitive sheep farmers and the like, but really do their tops
when people doubt if they fly model planes. thaetfest do build and fly model planes must mearnldinéit haesg
television. So, they might be just primitive sheep faraflers after,

They can, however, take some comfort from théhtitdughteast, have seen proof of their model flyindgtprawess.

in a travel film. The modellers were a ratis&imedk lot, and all wore loin clothes, which | tiwskntd beodeyithg

dress in those hot climes. The nibdglfiew were of particularly advanced designjobsi/ledth wooden, swept

back wings. When launchethtul flew in a wide circle, and returned to the laehohtre suggesting some sort of
radiccontrol.

| think they called the models boomerangs.
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WEBRA .8
PICCOLO

Manufacturers:

Fein und Modelltec- > |

hnik, Genestrasse 5, - \

Berlin-Schoneberg, Q - '
Germanv.

Retail price in UK. £2 15s. (for export only)

Material Specification:

a

Crankcase: Light Alloy Displacement: .78 c.c. (.047 cu. in.)
pressure die casting  Bore: 10.5 mm. (.415 in.)
Crankcase bearing: Plain Stroke: 9 mm. (.354 in.)

gf}i':?ri?;istsotrifl&ecl Bore/stroke ration: 1.17

Cylinder iacket: A]minim Max. B.H.P.: .058 at 12,800 l'.p.m.
alloy Power rating: .075 B.H.P. per c.c.

Crankshaft: Hardened steel =~ Bare weight: 2§ oz.

Con. rod: Dural Power/weight ratio: .024 B.H.P. per oz.

PROPELILER R.P.M.

dia. pitch

8 <X 4 (Stanrt) 7,200

7 X 4 (Stant) 8,700

6 < 4 (Stant) 11,250

6 > 6 (Stant) 9,300

6 < 4 (E-DD plastic) 12,250

5 =< 5 (CGP) 11,800

Fuel: used Allbon diesel fuel
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